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Use A-Y transformation to find lhg equivalent resistance seen by the 10V source for

Q8 the circuit shown.

a. 8 Q
b. 76 Q

C/(EE 14.62 Q
16 Q

9 c. 1.6 Q




For the circuit shown, /, 1s:

source iﬁ_:_

L =

0133 A

If you replace Ry in the f_ull:;;i;xg%cir;:uil by a short circuit, the driven current by the

. —

200 n
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' For the circuit shown, the voltage across the 6£2 resistor is:

4V

If the voltage across a resistor is 0.6V, and R=20 K, the current flowing through the

Q3 | resistor is O 0% 4 0 3
) pA o \g“"l L
T Ay
0.3 pA | ) By Rgﬂ,ﬁk\h
g 03 A" 8 ) C
et o
e. 30 mA C AR
Q6 | For the circuit shown, the absorbed power in the 3k ohm resistor
o0 100£A
a. 9200 W ¥ | “\A ‘ﬁl’“"
b. 3.333 pW R a2 o S s
333 mW 2 -
TJGU w l ¥ —'ﬁ-l.-ﬂ. T e
. ‘ . ’
30 Wj 1 20V C;:) 20k § q) o




Q13 | The nodal voltage V; 1s:

-2.632V

a.
N
Q14
= [N ¢
3 T
. TF_:_'-!.l
. -5

| Q15
|

.|h-

b r————

i
BlTar
’fﬂ‘EEJ :

s -_f..;,

137 A

| -0.844 A

The voltage at the reference point is:

'__...._"_'E"' %

1V

"5‘4"* :

i g

lilﬁtﬂ" % A

o
i
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||||




A\ cenergieits

) — |—-_

8 W, absorbed

c. None of these

Q11 | For the circuit shown, V, is:

%

2'#"_) §02
b. 4V R 10
a ulav o %
d_ |1V v ‘ZED id¥3en  x
e. ov I.-t _.ﬁ. ;_,_-:

Q12 | For the circuit shown, the current through the 6-£2 resistor / is:
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